zatgcznik NR 4 do SIWZ

WADIUM
i 5
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g Tytut zadania g g WYSOKOSC WADIUM
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N § é
1 2 3 4
INOWROCLAW
OSIEDLE NOWE | TORUNSKIE (A1)
1 Armii Krajowej 2 Al 2000
2 Armii Krajowej 4 Al 2 000
3 Narutowicza 66 Al 2 000
4 Daszynskiego 27 Al 2 000
5 Wawrzyniaka 20 Al 5000
6 Al. Okrezna 81 Al 9 000
7 Al. Okrezna 83 Al 2000
12  |Al Okrezna 82 Al 2 000
13 |Al Okrezna 80 Al 2 000
IN [M.Konopnickiej 28 Al 5000
2N |Wawrzyniaka 24 Al 7 900
3N |Jacewska 17 Al 11 500
OSIEDLE PIASTOWSKIE (A2)
AN  |Marulewska 7 - pawilon A2 1 000
Osiedla Rejonowe (A3)
Janikowo
o[ S B
6N |Ogrodowa 20 A3 13 250
7N [Wilkonskiego 10 A3 10 500
PAKOSC
8N  [Mogilenka 37 A3 14 250
Kruszwica
9N [Dworcowa 1 A3 12 250




10N [Kujawska 19 A3 2 000
Osiedle Rabin (A5)
51 |Niepodlegtosci 30 A5 10 040
11N [Niepodlegtosci 80 A5 2 000
Dziat Techniczny (ZT)
62 Al N'|Ik.0’faja P_(opernlka 7 (budynek 7T 1 000
administracyjno- ustugowy)
64 tokietka 29 (pawilon handlowo- 77 25 000
ustugowy)
RAZEM : 145 690




